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Exercise#1. For the Gaussian kernel, for a single observation what is the limit of the kernel for the two cases on Slide 5.

Exercise#2. Download the control stream c103.txt. What does the code

IF (NEWIND.LE.1) FLAG=0

IF (IPROB.EQ.1) THEN

   M=MDV

   IF (DV.EQ.BSLN.AND.FLAG.EQ.0) M=1

   IF (MDV.EQ.0.AND.DV.NE.BSLN) FLAG=1

ENDIF

do?

Exercise#3. What does the code

IF (IPROB.EQ.2) THEN

   IF (MDV.EQ.0.AND.FLAG.EQ.0) THEN

      YLO=BSLN+.05

      YUP=BSLN-.05

      FLAG=1

   ENDIF

ENDIF

do?

Problem#1. Run the model. Does variance escape occur? Set up a simulation with the model. What would one do with the following simulated data

Time BSLN  DV

10         70     70

20         70     70

30         70     71

?

Time BSLN  DV

10         70     70

20         70     70

30         70     70

?

Time BSLN  DV

10         70     72

20         70     75

30         70     77

?

Problem#2. Could the model ever simulate what was observed clinically, i.e. 13% of subjects with no change from baseline?

Problem#3. Do you think the unbounded likelihood would have occurred if baseline had been modeled as opposed to treated as a covariate?

